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CLASS-TEST
CLASS-XI
MATHS(SET-I)

TOPIC BINOMIAL THEOREM

. N . . A
Q.1 Prove that there is no term involving x° in the expansion of (ZXZ ——J .
X

Q.2 Find the coefficient of x®in the expansion of the product (= 2x)’ (1 - x)".

Q3.  Ifthe coefficient of ‘4’th and ‘13’th terms in the expansion‘of [x*+ (1/x)] " be equal, then
find the term which independent of ‘x’.

Q.4 Show that the ratio of the coefficient of x'? in (1— x2)10 and the term independent of X in

(x — ETO is (1:32).
X

Q.5 Using binomial theorem prove that (32"+2 -8n+ 9) is divisible by 64,where n is a positive
integer.

TOPIC BINOMIAL THEOREM

Q 1. Let ‘n’ be a positive integer. If the coefficients of second, third and fourth terms in (1+x)? are
in arithmetic progression, then find the value of ‘n’.

Q2. The3" 4™and 5" terms in the expansion of (x+a)" are respectively ‘84°, 280° and ‘560,
find the value of “x’, ‘a’ and ‘n’.

Q 3:"Find the coefficient of x*® in (1+x)* (1-x+x%)*.

Q .4 Find The term independent of X in the expansion of:

CBSE Sample Papers | CBSE Guess Papers | CBSE Practice Papers | Important Questions | CBSE PSA | CBSE
OTBA | Proficiency Test | 10 Years Question Bank | CBSE Guide | CBSE Syllabus | Indian Tutors | Teacher' Jobs
CBSE eBooks | Schools | Alumni | CBSE Results | CBSE Datesheet | CBSE News



http://www.cbseguess.com/
http://www.cbseguess.com/papers/sample_papers/
http://www.cbseguess.com/papers/guess_papers/
http://www.cbseguess.com/papers/practice-papers/
http://www.cbseguess.com/papers/cbse_important_questions/
http://www.cbseguess.com/papers/problem_solving_assessment/
http://www.cbseguess.com/papers/open-text-based-assessment/
http://www.cbseguess.com/papers/open-text-based-assessment/
http://www.cbseguess.com/papers/proficiency_test/
http://www.cbseguess.com/papers/question_papers/
http://www.cbseguess.com/cbse-guide/
http://www.cbseguess.com/syllabus/
http://www.cbseguess.com/tutors/
http://www.cbseguess.com/jobs/
http://www.cbseguess.com/ebooks/
http://www.cbseguess.com/schools/
http://www.cbseguess.com/alumni/
http://www.cbseguess.com/results/
http://www.cbseguess.com/datesheet/
http://www.cbseguess.com/news/

Cbseﬁuess CBSEGuess.com

R R NG i

D VX +— (i) —-—

()( 3x2j ()( 2 3xj

Q5. Find the coefficient of X" in the expansion of [x + (1/x)]", if it occurs.

TOPIC BINOMIAL THEOREM
Q1. Ifthe coefficients of (2r + 1)th term and (r + 2)th term in the expansion of.(1 + x)** are
equal, find ‘r’.

Q.2 Ifinthe expansion of (1+x)™ (1-x)", the coefficients of ‘x>.and ‘x*” are ‘3’ and ‘-6 res.
Find the value of ‘m’.

Q.3 If third term in the expansion of (x + x °%)° is 10,00;000. Find the value of ‘x’.

Q.4  Prove that the ration of the coefficient of x*° in (1-x*)* and the term independent of ‘x’ in
[x—(2/x)]*is1:32.

Q.5 Find the coefficient of ‘x” in the‘expansion of (1-2x° + x°) [1 + (1/x)]°

TOPIC BINOMIAL THEOREM
Q.6 Show that the middle— term in the expansion of (1+x)*" is
1.3.5 -—---+- (2n-1) / (n!) . 2"X", ‘n’ being a positive integer.
Q.7 If P be the sum.of odd terms and Q that of even terms in the expansion of (x+a)" ,Prove that

(i) (P?=Q*)=(x*~a*)';

o 4PQ= [(x+a)" —(x—a)"|

(i) 2(P? +Q?)=[(x+a)" ~ (x~af"}
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Q8.. Show that that the term independent of ‘x” in the expansion of
[x + /x)] *is [1.3.5. - (2n-1)/ (n1)] 2"

Q9. The 6™ term in the expansion of [(1/ x®) + x* logy*]? is 5600. Prove that x =10.
= (4n1) /[ (4/3)n-r]! x [(4/3)(2n+1)]!

Q 10.: Prove that the coefficient of the term independent of ‘y’ in the expansion of
[+ DIy -y " +1)-  (y-D/ -y is210,
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